8.3 Functions and Equations (6.EE.9)

Vocabulary
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A linear functlon is a function whose graph is a line.
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Linear Function ~ A function whose graph is a “V\Q
A relationship that assigns exactly one. output value to 0 If Z input value.

Guided Practice

1.) Write an_equation to represent the function shown in the table.

Input (x) 1

2

0
Output (y) 0 4
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2.) Write an_equation to represent the function shown in the table.

X-4=y op bx = Y

7| Input (x) 1 2

4 8 16
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-7J_Ou1'pu1' (y) 5 10

)('5:3 0R 5)(::j




3.) Graph the functiony = x + 3
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4.) The graph below shows the number of inches of ra
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infall {x) equivatent to inches of snow (y).

Make ar the input-output values W nfrem the graph
that can beuSed—5 find the total inches of snow {y) equivalent to inches of rain (x).
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Partner Talk
Write an equation to represent the function.
“Input (x) 1 3 4 5
Dutput (y) 6 12 18 24 30
/ o o= —
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Building on the Essential Question - How are ordered pairs of a function used to create the graph

of the function? |0+ e 0r6{€V€A pairg N 'Hf\ﬂ

grap and Men dvaw a Linc.

Rate Yourself - Are you ready to move one? Shade the section that applies.
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